Fit model dialog box:

This is how you set-up a stepwise regression, to explain jump height in terms of multiple x-variables (player height, player weight, training history, and age). Make sure to change “personality” option to stepwise as shown.
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Results of stepwise regression:

You can adjust the maximum p-value allowed for a variable to enter the regression (p enter), and the minimum p-value needed to remove a variable from the regression (p leave). For example, a variable with a p-value of 0.15 would be removed from the model as p leave is currently set at 0.10. The p-value of a variable in the regression will change depending on what other variables are in the regression. Therefore a variable might be entered at one step but then pulled out at a later step. In this example, height had the lowest p-value in simple linear regression so enters first. In the next step, weight had the lowest p-value when fitted in a model with height, so also enters. Entering weight affects the p-value of height, but it is still << p leave = 0.10 so height remains in the model. In the last step, no variables have a p-value lower than p enter (0.25) so the process ends.

1. Adjust p enter and p leave if you wish from the default values.

2. Click either “Go” or “Step”. “Go” does all steps at once and gives you the final suite of important variables, “Step” lets you see step by step what’s happening.

3. Then you need to “make model” (click on this) with your selected subset of important x variables. Clicking this button takes you back to the fit model dialog box where you can do the regression.[image: image2.jpg][f] Fle Edt Tables Rows Cos DOE Analyee Graph Tools tiew Window hep
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